101. &Gy Gar(hssi (e fispsflaener sreveuniluns wpapuu®Bsss
| L o Gumen gim&slan, sremravmeamg Sumder paany ensiubiiuig.
1L urigsGeomiu Lwen, gpsaapgeons o lflssrellen QaarGang apenan Qaarm $mbLso.
I sevasCam’ e Gunfld slgupsrl Gupys alpsfluyhog.
IV, eaurevCansmon. apgaapsors @bdureled saraflgCarlsnLeow cubsmi_bsS:.
(A LI I IV B) I I IV, III
(© LTV, I II (D) I LIV

Arrange in chronological order :

I. Automan turks captured constantinoble

IT. Farthalomia-Diaz reached Southern tip of Africa

I11. Vijayanagar Empire were defeated at Talaikotai war

IV. Vaskoda-Gama reached Calicut at first time through sea route
A) TIL T, 1V W LI, 0

(C) T, IV, 1L II (Dy T1I, 1 HI TV

102, Séneumeuareummyer ergy sHlwims QuimsnbsHng:?

(a) SiyeuNFD 1. QYTERGTE HTLOT

(b) @Eeflwlaren 2. LD&}FFI_II'”:}"&,Lb Glomdl Quigge
(€) =g eyl wCarfi 3. ulagm HrwT

(d) =ge urd 4, G BT

A @ B) (b

G (o D)

Which of the following is correctly matched?

(a) Abul Fazal 1. Shah Jahan Nama

(b Inayat Khan 2. Translation of Mahabharatha
(¢) Abdul Hamid Lahorie 3. Padshanama

(d) Abul Falzi 4.  Akbarnama

(A (a) (B) (b)

N © D) (d
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103. @pdwreiien @ urss sawsunsaer suflaFlLRSE:s.

L
I1.
I11.
IV.
(A)
(C)

LT&LIT TNETEl(seipanyan

L& sondi 2 Gaen

L& prGmbdlr Gyens

.84, A
I, 11, I1L, TV
I, 1, I, IV

By T1IL, IV 1,11
(D) I 1L I, 1V

Arrange the President of India in sequential order.
Dr. Radhakrishnan
Dr. Jakhir Hussain
Dy. Rajendra Prasad

L
I1.
I11.
IV.
(A)

V.V, Girt
I, 11, 111, 1V
111, I 11, TV

104, Qungsdss -

(a)
(b)
{c)
(d)

(A)
(B)
(&)
(D)

Dr. 2wnCusasm
Gurdlymen 1y Ge
BT AW E00T (3(76

. Qeu.gm. Guwrr

(a) (b
2 4
4 1
1 2
1 4

Match the following :

(a)
(b}
©
(d)

(A)
(B)
(©)

or

Dr. Ambedkax
Jyotirao Phule
Narayana Guru
E.V.R. Periyar

(a) (b)
2 4
4 1
1 2
1 4

[V s

(S N

(d)

W W W

[N

By NI, IV, 111
(Dy IILIL I, TV

vdlegdld . aflCerfaf seoL
Fwflwureng @II&sD

wrrmwest ufluneer Gumsn

L

513 Gengasd sLoreLd

Bahishkrit Hitkarini Sabha
Self Respect Movement
Narayana Paripalana Yogam
Satya Sadhak Samaj

W
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105. auflenasu(hsd ummagorareng CsMbOsHEE o (Hgs.
Gaugaroinbe An@ nrd peen Epssar_ pepuid caufamsiuBhssiuGADg.

I emeudiLTEeT 1I. Qpnwerrirssr
Il esfNwiser V. @sdlissn.
(A) IV, 111, 11 ®) IL 1,1V, LI
W ILIIL T, IV D) LLIL, 1,1V

Arrange in sequential order :

The caste system is generally read in post-vedhic period as

I. - Vysyas II.  Brahmanas
III.  Satrivas IV. Sudras.

A IV, L IL I By 1L 1, IV, 1
(C) ILIL LIV (D) TIL I, 1, IV

106. &pasei_cunbla erg) sfures QunmbgHng?

(A)  eurdselés sEd - 16eng

(B) Crrgs Csizd - @4wsseflar Qrdfldamers Qerar® enudleaiasmer
CaiEsBoeh aperp |

(C) wepepas Gairga ~  Gawésd Crrqurs ghser Uy smar Gaibos (LG

(D) Gaigelia Curliinuil_g s@d - 25 euwg Blyblblwsurser

Which one of the following is correctly matched?

(A) Right to vote — Ageof 16
(B) Direct Election — Members are elected by the representatives of the people
(C) Indirect Election — People elect their representatives directly

Uﬂ'} Contesting in the election — Completed age of 25.
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107. s cuflansiins (s -

L 2%3-b verudfleler @oramen dlarfumen siardw W Garev denflou@gly eusrasdan ()
eSpSE I LT

11, 1806, grepa 10— mmem, (1pssd wibmib 23— uan Llflaneus Carhe EhHu AULMLSE SwEHMS
Comhgelggent.

- IIL eimsssns Qardalini @rrane oflari Gogmi sybevyh g eurt

IV.  arenéy unenCaril erammib @orames Hamf @Qasnradgs@ (pee uelwmarTi,

A LILILIV B) UL I IV, I

(Cy I 1V, 1111 (Dy IV, I I 11

Arrange in chronological order :

L Col. Me Kerras of the 23r¢ Regiment was shutdown on the parade ground.
11, July 10, 1806, Ist and 23" Regiments started the revolt.

III.  Major Armstrong was the next officer killed during the mutiny.

IV. Col. Fan Court who commanded the garrison was their first victim.

(A) LI ILIV (B) IILIL IV, 1
SO LIV, 1 I (D) TV, I TiL, I

108. &£.9. 1893-e @eum sawrudl wpmd Heumsd vamgensseT Corar_reugen fperd GCoflu o @mreane

STedoriq Euri.

Eipssetr_eunmer Coflus o e enal GIeHTly WU Wri?

(A)  Garuredmegent Carae (B)  unwaiistsr s
(C)  eoneregudl pmd (D) sagrumi peuGrrs)

In 1893 he started using the Traditional religious Ganapathi festival and Shivaj festival to
propagate and stimulate nationalism. '

Who among the following revived the nationalism?

(A) Gopalakrishna Gokhale u'!‘)ﬂ Balgangadhar Tilak
(C) Lalalajpat Rai (D) Dadabhai Naaocroji
B 31 ‘ SFT2
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109, vigwe-I g wigwe I sid Qurmsd, ulgudsn Sp Qar@ssiul_(Gerer @ouihasener
vwau®p s eflwmen eflen e CarHéisMH :

L tgwed I L tquwied 11
(a)  wuGosdluien srifltbanes
(by  Sleflwamgsmyr R{IURT

() WHHNA
(d)  Gurdlefwr

1Dl LIL] LDGRED &G

B oo

QeueTens sweuaf)

(a) (b) (c) (d)

(A) 3 1 4 2
(B) 3 4 1 2
(&) 2 3 4 1
(D) 4 2 3 1

Match List T with List II and select the correct answer using the code given below the list.
Last I List II

(a) Appalachian 1. Volcanic Mountain
(by Kilimanjaro 2. Plateau
(¢) Mississippl 3. Fold Mountain

4.

(dy Bolivia Flood Plain.

L@ ® © (d)
wA) ;

3 1 4 2
(B) 3 4 1 2
(®) 2 3 4 1
(D) 4 2 3 1

110. sflwrer eumigengeanw (efenanut) CoihE s (.
yefluGleim 2 e 1 R&@aatled by Blaaudd o drar sihae
(A) CuwCer@® (B) seausn
(C)  edmgmeud (D) Geualigsmeuld

Choose the correct; answer :

The Earth inner layer which is in Molten stage.

(A) The Crust (B) . The Mantle
(C) The Inner core \{,Iﬂ}f The Outer core
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111. Gummsgs :

BI(H&ET QaupenaCamerser
(a) @Qwufiéss gadlu Briser l.l FULIML.
(b) Qogmesen 2. (I TR TS
(¢} Qaerflur 3. QUIGRTL &M
(d) engenm 4. S gml
(a) (b) () (d)
(A) 4 2 1 3
(B) 2 1 4 3
(&) 1 4 2 3
o) 3 1 4 2
Match the following :
Country Satellites
(a) U.SA. 1. Spot
(b) TFrance 2. Yaogan
{(c} Korea 3. Landsat
{d) China 4. Kitsat

(a) (b) {c) (d)

(A) 4 2 1 3
(B) 2 1 4 3
(C) 1 4 2 3
(D) 3 1 4 9

112, gupeansuislimngs CrilaLwrs suarbiaamar Gumib Ggme
(A)  paenenwo Blenaws Gigmple (B)  @neir_mb Hlenewg Qpmdles
(C)  epenpmd Hlenaws Gemflen (D) preamsmd Beavs Gzl

The activity that obtains its resources directly from the nature

JA’)” Primary Industries (B) Secondary Industries
(C) Tertiary Industries (D) Quaternary Industries
B 33 SFT2
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113.

114.

SipssanL eunsdlunisener seueh @

gamoy (A) D gpanglGralwreller @ullenevanhg), Huy, GeadGoudey, eN&CLrflwr wgdsale
2o Slullei Hlers m mysem smamLu(BElenmas

gngenrd (R) D Hevgsy B GeaMae@n B Qarerurenpadr GUu@gdsatle sramiin@dennen

Beipmien,

(A) (A wopow (R) @rerun sfl. Cuand (R) erarug (A)edlhg sflwurer efatgso.
B) (A) wpmb (R) @rer@id ef. Cogib (R) erag) (A)efine sflumar oilarssioda.
(C) (&) st gama (R) seum)

(D) (A) seum =ganmed (R) ol

Consider the following statements :

Assertion (A) : Artesian springs are found in Australia, in the provinces of Queensland,
New South Wales and Victoria

Reason (R) : Water bearing porus rocks are abundant in these regions

Now select your answer according to the coding scheme given below.

w’ Both (A) and (R) are true, and (R) 15 the correct explanation of (A)

(B) Both (A) and (R) are true, and (R) 1s not the correct explanation of (A)
(C)  (A)is true but (R) is false

(DY (A) 1s false but (R) 18 true

e I g ulgud IT 2oa Qurmsd £Cp Qandésuul Rarer giluliGsemers: Asram® sflwrean
aflen_enurs Gambes.
ulque I ulguid 11

(a) wsdu s eremy.d 1. erflwens
(b)y £Qug 2 SpLOLOTET 25\
{¢) whumenmr 3. Qg i emm
(d) Geden Caneem 4 S

@ ®» © @
{.})‘" 3 4 2 1
B) 1 4 2 3
(©) 3 2 1 4
D) 2 3 4 1
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Match List 1 with List II correctly and select your answer by using the codes given below :

List ] List II
(a) Mid Atlantic 1. Volcano
(by Tibet 2. Deep trench
(¢y Mariana 3. Range
(dy St. Helana 4.  Plateau
(@ () (c) (d)
(&) 3 4 2 1
(B) 1 4 2 3
(C) 3 2 1 4
(D) 2 3 4 1
115. WTO arggienmu s Glgrimemi_uigy?
(A) wEssHeD (B) oumenflab
() eaumd (M) soed
WTO is related with
(A)  Medical WB7 Trade
(C) Banking (D) Education

116, uigwea [ guisgque Il 20 @ Qurmsd Gy QarRssiu Herar gRlhaemeas Qanan(y #fHumer
e CarnEs.

Ll g I ULig uiey IT
(a) eCGuwmrare gmilleis 1. Qeden Gadsembd
(b) &b cublg 2. GurmeTrgny Hey GasHemTLD
(©) ol wrieged 3. SUETTES] (@) eo fgemTLD
(d) sngpGeudasn : 4, ElanL_ILmEnLd @) e0&sanLD

(a) (b) (c) (d)

(A) 2 1 3 4
(B) 4 1 2 3
(®) 3 2 4 1
(D) 1 2 3 4
B 35 SFT2
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Match the following given in column A with column B and select the correct answer from the
codes given below :

Column A Column B
(a) Lionel Robbins 1. Wealth definition
(k) Adam Smith 2 Welfare definition
(c) Marshall 3. Growth definition
(d) Samuelson 4 Scarcity definition

(a) (b) (©) (d)

(A) 2 1 3 4
P 4 1 2 3
(®) 3 2 4 1
(D) 1 2 3 4

117, yrsyregen s QEH&ETE 2 (Heumsa il Cg).

(4)  Qurgh uRELH apeppenw GubLdes

(B)  eumuwrer Wasbol ghngsriellensms @ennad
(C)  dprwlyp Saumaeumilibeaner iflenes

(D)  Qurgmsgienm Hlmsuentseilen ukigeiudsad QEriuns

Ranganrajan Committee was constituted for

(A) Improvemeht in Public Distribution System
(B Reducing inequality in Income and Wealth
{Cy Removal of rural unemployment

J.H? Disinvestment of public sector enterprises

L18. uimellan iswemum {Hé @MuSl G e e Qam iy Lowrss org?
(A) Gspew pam (B)  2feow Qumise
(C)  sevell Qumged (D) 4 Quigis eumisiong
Gender inequality index is not related with

(A) Reproductive health (B) Empowerment
(C) Education m Access to Finance
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119. Epsnamusubbled erg sflwins Qummb ) o crerg;?
(A) @ndw flaisy ek 1. eumdsailen eumidl

(B) uvenG@euaflui (B = fienw 2. LT wrfle eukid

(C)  Qurgisgienp eumidl 3. mAmda

(D) olgulleli i mg eumdl 4. mgad.

Select the correct Match :

Q’o‘({' REBI 1.  Banker's Bank

(B) Monopoly of note issues 2. SBI

(C) Public Sector Bank 3. ICICT

(I) Non Scheduled Bank 4. 10B

120. Spsenr eursdwikisamers seucf.

sapm (A) cougevun Bflwad fy apsdloraisati b Qupp Celllnlamear Darenr(h Quifw
Boywrsetiey (paed(h Glawfng.

anrantn (R) Cougeavur GlFwasn “HArny gefl Gum CQeudtend” eremm Gamliumiigen Sigliuanlufle
Quieang.

Eeunmer erg) i eren nomallEaHay :

@) (A wpmd (B) @remGo f

(B) (A womd (R) GrsrBo geum

(€Y (A) saum gpaned (R) &l

D) (A) e syenmés (R) pougy

Consider the following statements : _

Assertion {A) : Mutual Fund collects savings from small Investors and invest then into
corporate bodies.

Reason (R) . Mutual Fund Works as the principle of “Small drops of water make a big

Ocean”.

Select your answer according to the coding scheme given below :
A ‘Both (A) and (R) are correct

(BY  Both (&) and (R) are false

(C) (A) is false but (R) is true

(D) (A) is true but (R) is false

B _ 37 SFT2
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121. @méeans Qudl whmb umiess sluediar Lrsrse Spawmm  agame swrhlasnuGang?
(A) G eorar (B) Quyem-S°

(C) QLsrmen (D) “ehH

Which one of the following is used in the preparation of seat belts.and sails?
(A) Teflon (B) Buna-S
W5 Dacron (D) PVC

122 sflwnes Gummdgs :

(a) BlenGarm L_gdmen 1. g

{b) Wlemgent 2. Goumenl_
(©)  Wenan(pss Ceumur( 3. FoGRfLD
(d)  OenGenmlLgdsn emay 4. bl

(a) (b) (c) (d)

(A) 4 1 2 3
(B) 3 2 1 4
(C) 1 4 3 2
(D) 4 3 1 2

Match the following :

(a) Current strength 1. Ohm

(b) Resistance 2. Volt

{¢) Potential difference 3. Coulomb
(d) Quantity of electric current 4. Ampere

_'(a) (b) () (d)
A 4 1 2 3

(B) 3 2 1 4
(C) 1 4 3 2
(D) 4 3 1 2
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123. sapm(A)  TAN-A fleeuld clag sms wreallea yumser ApsE-Cubhans maisslinL

124

Gouaim(@ib
aryento (R) s snpesdlar aFssGamigen cufurer smsliyob uelldsths Lesdne

Qerigssrs @ mes Ceuam(HLb

A) (A womg (R) &7 bomd (R) syeng (A) eSing sflwnear sflerésn

B) (A wogw (R) afl womn (R) wyerg (A) efine sfwurer eflarsash .gy@@)

(C)  (A) &f yenman (R) sy

Dy  (A) seun c‘;g_bamrreb (R) &f

Assertion (A) : In TAN-A position the arms of deflection magnetometer are placed along

East-West direction.
Reason (R) . The magnetic field along the axial line of a bar magnet is perpendicular to

the horizontal component of earth's magnetic field

Now select your answer according to the coding scheme given below :

wr

Both (A) and (R} correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, and (R) 1s not the correct explanation of (A)
(CYy  (A) is true but (R) is false

(DY (A) is false but (R) 1s true

gilwmen ellaneow GOS0,

welgelhE @758 SH(PSHLTeag ipenaranut alli_ sredd ublsb grllemeia,

(A)

(B)
©
(D)

fpenens@L @msusHnEl 2 erar dararaeamen el srallb@b Emswussn@n o der Ggranaway
2igls1D

ppeneranit Crrés sradln@l @ mewsdn@h @l Gu 2 der Qgrenaey Gearmey
Hrene el ppenetdghd GimsuisDeEn @ean G o der Agmanaey i Hwn

Gareneened FTTESS0M /2 LTSNS FTTESSEL6w

Choose correct answer.

Blood pressure in human is greater at feet than at the brain because

-

W)
(B)
©
(D)

The distance between feet and the heart is large than between heart and brain
The distance between feet and the heart is small compared to brain
The distance between brain and heart is large than feet

It doesn’t depend upon the distance/height

39 SKET2
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125.

126.

reuflen  wrs  eumwrend g5 280000 seumesnw  Gewsllamgpd  Celluybd gl
Qer(aslulfererg). o amallh@Ed Gl ne@b acrer 6fidlgo.

7%

LumpsGLrsg

(A)  33.1% (B) 33.7%
©)  33.2% (D) 33.3%

A man carns Rs. 28,000 as monthly salary. His expenditure and savings are given in the
diagram. The percentage of savings compared to food '

7%
Entertainment
(A) 33.1% By 33.7%
(C) 33.2% (., 33.3%
@ oe@puler genranwll Cuneugspamean S5dll Tamalisensu” @ say FRmeus SHEET eTarTantlGand

9
srams. wenmuilen her sgwmigar 9 8 x 6:;— ]

(A) 1240 (B) 1400
(©) 1440 (D) 1660

o ) . ) 2 .
The Minimum no. of square size tiles to fill the floor of a room measuring 9 m x 6= m, is
’ 9

(A) 1240 (B) 1400
WET) 1440 (D) 1660

SET2 40 B



127.

129,

‘Gensey’ epad flenL &si Gumieg)
(A)  mIDm wrEmb (B)  agrnsfl ellewssn
(©) GarlLg semaw (D) el(®mney

Ogive can be used to obtain
-
J&)  percentiles (B) mean deviation

(Cy skewness (D) correlation

- QarsaiulHerer cpenm crenTgefie 2-cug) eTamemTieang) (pEe eramentley LITEl. ppemmTel sl eretr (Lp@ed

ramranests GLIME) gpermy oL mig. eueusamsatlen syisfl 27 erafle, wxdieufiansuilay Weddblu ereir
(A) 10 By 9
) 8 D) 18

Of the three numbers, the second is half of the first and the third is three times the first. If the

average of the three numbers is 27. The smallest number is

(A) 10 -.,rrH'i* 9
) 8 M) 18

wrereuirgse Gumn wdlbueasrsailan emablousis uraider apary srawrarusa 20, 40 womb 50

DG, srewnan elawass ey

&) @

() (D) 15

1o o

The three quartiles of a frequency distribution of marks obtained by male students are 20, 40

and 50. The coefficient of quartile deviation is -

1 1
(A) 3 By =
o2 M) 15
W
41 SFT2
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130. Spssar_ oysrsama sradda uy suflas iu(ss 6.
. Seusvspseunoe
II.  @psemd prélibweuroes
I eflgguneows Gampan
IV.  qpgembd ugibssen
(A) II, I, IV, 1l (B) I IL IV, III
(C) ILIIL IV, I Dy I IV, I 11

Following kings arrange in chronological order

I. Sivashkanda Varman

II. I Narasimhavarman

ITI. Viiyalaya Cholan

IV. 1 parandagan

(A II I, 1V, 11 “{;1 I II, IV, 111
(C 1L 11,1V, 1 (D) I, 1V, II0I, 11

131. seurdlggellen Gurg QeueliliL@in G bpe e1hs augeusdla Gallsaiiudng ?

(A) ADP (B) ATP
(C) NADP 77 (D) APP

During respiration, energy is released. [t is stored in the form of
(A) ADP B) ATP
(C) NADP (D) APP

132. wrisetlan 2 mdla@ sTreRTre Sl&&ss

(A)  ensad, oeLiGermud (B) engeid, evdeflgarangiom

(C) unrenengio, eudeflyanansom (D) SuGenmutd, LMFeren&LDT

The strength of trees are due to the presence of

-
(A) xylem, phloem W) xvlem, sclerenchyma
(C) parenchyma, sclerenchyma (D) phloem, parenchyma

SFT2 12



133.

134

135.

el euens uemy QupGnrr 3—s wiynrer WHHID S—Glenwner curflasa;s o (Heulsd (Plguyb?
(A) Ttwdmott B) TT womb Tt
(C) Tt uopmbTt (D)  tt womw tt

Show the genotypes of parents that produce offspring in the ratio of 3-tall animals to 3-dwarf

animals.
¥

{A) Ttandttin 3: 3 ratio IIH'T)J TT and Tt in 3 : 3 ratio
(C) TtandTtin 3: 3 ratio (D} ttandttin 33 ratio

@eunler sflwrareunann CerbbsHsseyb.

I z2.flendser suarmd Cung Qe QumEd apanp ewl LTl

II. urellenu@upés (wpenmullen enwl Lren whmih wGwrdley LELLsE o @
I umeblar Qumas apesnuilé enpGuindlay gLl o e () |

V.  aflwkesaiio undlar @emGumsen sreainGdn

(A Twpmyw I (B I womb IV

(© 11 whpg 111 D) TwpgolV

Identify the correct statements amoﬁg the following :

1. The growth of an organism is done by Mitosis.

[I.  Insexual reproduction of an organism both Mitosis and Meiosis are seen.
[II. In asexual reproduction of an organism Meiosis is observed

IV.  In animals asexual reproduction 15 seen.

9 Tandll (B) Iand IV

(C) IIandlll (D) IandIV

Epsaan_ ampnseaie erg), #flwns QurmsEuererg?

(A) Curresse wemanm - PBSTLD @Tsh
(B) Cuniésdfw wrgd - Qsmevi e
(C)  Gunirés&Aw 2y EmET —~ @ ol Senereu
(D) Cunrsadfiw curanflu senavenoudi_Lb - Qameur
43 . SFT2
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Which one of the following is correctly matched?

(A) King of Portuguese - George-V
(B) Navigator of Portugal - Columbus
(Cy Governor of Portugal - Robert Clive
&ﬁr Headquarters of Portuguese - Goa

136. &pssam cursddisenen seua) |

I. wasar Suligyem i 2 arenouines ghgieuib, g6 gpd 2_flmwenw LATHE Cardreugler gren

2 Greng).
1L =g seps cuglsaien Gu aprearunBser gnu_mod Gmaes 2 se ding.
L. fleness sirdud gearawaw o fluu@ss B eufleriguirs @madng.
ECy @Hnd_Harer @dlS g sflwnen efient_eows CaibEsE -
&) Twolfposd (B) T wpob Il Gras@n of

©) I II wpmd LI epenmin afl (D) LI eopw I eapermbd geum

Consider the following statements :

I Power sharing is very spirit of democracy.
II. Tt helps to reduce the possibility of conflict between social groups.”

IIT. It 1s a good way to ensure the stability of pelitical order.
Now select your answer according to the coding scheme given below :
(A) 1 alone is correct (B) I andIl are correct

\Q;Jﬂ I, Il and I are correct (D) I, II and I1I are wrong

SFT2 44 B




137.

138.

utigwed I g unligwe ITe L ar Qurmsd), £Cp Qarssuulféarear @Hlui(Hsmans deram(p sflumean
eflen_emwg GCarbblsh.

L g ud | _ g wé 1T
(a) wsEu s 1. Qygwr
(b)  wnle 2. 2anqm & genaveur
() wrparT_& 3. SAETHHIT
(d) dlymo uerFTLSS 4. Gowr

(a) (b) (c) (d)

(A) 4 1 2 3
(B) 2 3 4 1
o 3 4 2
(D) 3 4 1 2

Match List I with List II and select the correct answer using the codes given below the lists.

ListT List II
(a) Unien of India 1. Prime Minister
(b) State 2. Panchayat President
(¢y  Municipal Corporation 3. Governor
(d) Gram Panchayat 4. Mavor

(@) (b) (©) (d)

(A) 4 1 2 3
(B) 2 3 4 1
(© 1 3 4 2
(D) 3 4 1 2

ans Crrassms s aligd 200660 eusssgass BHlu LspOlss Busssans GrLTenDd UNMTESE ?
(A  wywrls pri (BY  éserm_f
(C)  wrGaumndsn (D) Gupaear_supdld erga)b @avme

Nepal witnessed an extraordinary popular movement in April 2006 which aimed at restoring

(A) Monarchy yﬂf}” Democracy
(C) Maoism (D) None of the above
45 SFT2
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139. Aersu(meuaneumenn LUMHESIS.

&L L4&LRALIND STyemTD

(a) Hgzenenaunad 1. cuarmelleurhig eramTmed
(b) wmumpred 2. eugarpp HevaredlLid
() godf 3. Breipsd
(d) qper_pgienp 4. w1 9yCgeab

() (b) (c) (d)
(A) 2 3 4 1
(B) 1 2 3 4
(©€) 3 2 1 4
(D) 4 3 2 1
Match the following :

Place Famous for
(a) Chithannavasal 1. Wildlife Sanctuary
(b} Papanasam 2. Historical movement
(¢) Yelagiri 3.  Waterfalls
(d) Mundanthurai 4.  Hill resort

() (b) (c) (d)

w2 3 4 1

(B) 1 2 3 4
(C) 3 2 1 4
(D) 4 3 2 1

140. QarRéauul(erer Hfefiud ofl@siaeser @fluemen Candiger gan anpdetner ereamp HmaHenen

ellemEEl pHed idlEs
(A) s8aGWwr geblad (B) J. Qalienrf.
(C) Lmeufl (D) & gmes Bl e

Of the following scientist, the first one to explain the concept — Why the planets are moving
around the sun?

(A) Galileo Galieli (B) J.Kepler
(C) Ptolemy ,&D‘ﬂ Sir Issac Newton

SFT2 46 B




141. eflwnar eflenrenus Gorbblg (.

Gacusumd flya Sleuiuns @l(H&HsE aremin

(&)  camefld Hfs wera QHDY s 2 dreng
(B) warrenfles @ (mbL) @evanad

(C) @z bsab Qeuliirearg

(D)  salloean sebgemeng

Pick out the correct answer.
Mars is red because
! soll contains iron oxide (B) soi! does not contain iron

(C) its very hot (D) it contains clay

142. o ur Garlenu erggien GsTLTLenwg?

143.

144,

(A)  Guevura (B) & upg
(C)  urlafléri.en (D) HN&Gs_

Uber cup 1s associated with
(A) DBaseball (B) Football
{;E'j'} Badminton (D) Cricket

SpasacuppeT UspEupn BFreavedrefEelmen wimk?
(A umupTsd SHeuen (B) @Goras@g eeusdwnrgen
(C)  Speaurpgeny grgrsseans Gdemnar (D)  ssfl Carume mrg

Who was the popular Nathaswara Vidwan among the following?
(A) Papanasa Sivan (B) Kunnakudi Vaidyanathan
7" Thiruvadudurai RajaRathinam Pillai (D) Kathri Gopalnath

Ty, GWTsd Samaal(hé@E eurislu)drer weraluuelagh siflsrroreng

(A) sl Blupmibd SSlsTrb (B) Qewdsgienp siflsmyn
(©)  pélggion oifsmo D)  seusssre sifsmd
The pardoning power of the President vested by the constitution is
gl
(A) Legislative power -&E‘S Executive power
(C) dJudicial power (D) Emergency power
47 SFT2
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145. sflwns Qummbgieuans ConbOs(Haa) aripss :

(a)
(b)
(c)
(d)

(A)
(B)
(€
(D)

SreRTwr cur]
wmedl eurl

&ram eul

eSlwrumy guf

() (b) {©) (d)

b = QD

3 2 1
1 4 2
3 2 4
4 3 1

Match it and choose the correct pair.

(a)

(b)
(c)
(d)

@)
®)
(©)
D)

Haranya Tax

Bali Tax
Kara Tax
Trade Tax

(a) (b) (c) (d)

| oS R ' R -9
= W = W
[ S e S
T

146. Qummsgs :

(a)
(b)
(c)
(d)

(A)
)
(©)
(D)

SFT2

Guriéas&Eaw eurenflu sembd
L&& cumamtlLl S

Craflwir suranflu garid
WQyEse eurestiLi eaTid

(a) (b) (c) (d)

| B =N

1 3
3 2
2 4
1 3

A w1

48

Lo
5 LIS elleney

LLb&ET eflhLisnent
OELD FTHS eul

urgean eul

5 of the prices
Sale of flowers
Religtous tax

Irrigation tax

Casmeun
SIBISLDLIMg
upCaumar(

LD (@,60l LI LI I 671D



147.

148.

Match the following :

(a) Portuguese settlement 1. Goa

(b} Dutch settlement 2. Tranqucbar

(¢) Danes settlement 3. Pulicat

(d) French Factory 4. Masulipattinam

(a) (b) (c) {(d)

(A) 2 1 3 4
(B) 1 3 2 4
(©) 3 2 4 1
D) 4 1 3 2

Genennw srprLs @ens Gamendll &b
(A) Copr smevid (B)  Camph srab

(C)  unesTg Wit Hreuid (D) aemlgr snevd

Origin of Karnatic music is during the period of

(A) Chera Period BT Chola Period

(C) Pandiya Period (D) Kalabra Period

gamm (A) D anruur waser U@SHew GuosuGLrilureseE abmywd Gewseant
seuand (R) L @pruum wE&seT (psenipgedler umEH Lufil e

@) (A wpgd B) sflurame ®) (&) sl wHpo (R) seup

€) A sam (R) & D) (A womn (R) seupreneney

Assertion (A) : Harappans exported raw cotton to Mesopotomia.

Reason (R) : Harappans were the first to grow cotton
{A) (A)and (R) are true (B) (A) True (R) false
@17 (&) false (R) true D) (A) and (R) are falsc
49 SFT2
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149. Sipssa_eunila erg) &7

I

I

(A)

(©)

srefliy Qrusilen Quinglimenil Urg s Ul eusl wanl eSprad @hdHureler wi G Curie

mHu Ceuem (i,

grefii Gryefler Qurgiuesfil ueniéd sl luy eudsluemL eirrad Qodlunadans Goeney

FHUI 6 S0 HL-HgiDH Cuniled mEuL Ceusr(hib.
[ bl G sf (By Il wl(Hw &l

I, [I-b &l (D) I-b @evenw, II-b Gevenew

Consider the following statements : Which of the following is/are correct?

I.

I1.

Lord Canning's General Services Enlistment Act ordering all recruits of the Bengal army
to be ready for service in India only.

Lord Canning's General Services Enlistment Act ordering all recruits of the Bengal army
to be ready for service both in India and outside India and even overseas.

I only (BY IIonly

Both I and II (I} Neither ] nor II

150. Spésari cunsdlunsaner Heue.

B

II.

(A)

(©)

apger 2 awsLiGunila gimadular CaraaliGw dorug Qwas upsdlur ENrETOTE@LD.

SR e gipédleapw BLSS el @BHu pevalibsamer yamuRsseusts @liphas).

@euniled ergy/eransu &7
[l Guo (B) I wl(mibd
I wpgo 11 D) b Géverev, [—ib Gévenay

Consider the following statement :

1.
II.

The Chief cause of the Khilafat movement was the defeat of Turkey in Ist World War.

The Mushims 1n India were upset over the British attitude against Turkey.

Which statement is/are correct?

(A) Tonly {B) Ilonly
@ Tand I (D) Neither I nor IT
SFT2 50 B



151. &psaam.. smbnseieo g sflurs Gurrpseidvama?

152.

L. FTIHT F_LLD -
1. &flgeney wmwed —~
1. anpd -
IV, Dr. oubGugst -
A 1

(C) I

I. Saratha Act -
II. Widow Remarriage —

III. Gandh -

IV. Dr. Ambedkar -

A 1

(C) 1II

Glurmmags

(a)  &Cypdlrmrs umenrgdl

(b) #l sLlyemtiv @iwr

()  srgmaml QrerCrmsadl

(d) Gsmune dgsager CargsGe
(a) (b) (€

{A) 1 2 3

(B) 2 1 4

Q) 2 4 1

D) 4 3 1

Match the following :
()
(b) G. Subramanya Aiyer
(¢) Dadabhai Naoroji

Surendranath Banerjee

(d} Gopala Krishna Gokhale
(a) (b) (c)

(A) 1 2 3

(B) 2 1 4

N 4 1

(D) 4 3 1

(d)

| R P S L I <N

QuerGLhens GaDhouL & SIHDEm auwlg)
reveu FhElT el GLmaTET

apflmen Qalg g

S FenL

(B)

IT

\5,]97" v

Which one of the following is incorrectly matched?

Minimum age for Girl Child Marriage

Eswara Chandra Vidyasagar

Harijan-Newspaper
Aathmiya Sabha

(B)
(D)

A W o

Ll

o1

I1
v

@ndwmelen pgEdumn wefisT
EbSuireiies Lis
srhEusler i G

Qgenena HTNENFEN L

Grand old man of India
Indian Burke

Political Guru of Gandhi
Madras Mahajana Sabha

SFT2
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153. Spssdn_ eursdlwitisamens seuefl ©
anpm (A)  1806-6 Caugniledmbs @bHiw HUumiser swssdhia mEHuLLan.

gmyamd (R) @ @pdlunenes suanflas Gupeilan g, A0 uigullelmbs eflHigama Qun eeuliCs
2eunsaflen CrrasnTELD.

Qaupmer sflunancupenn CorpOs058 TWa!.

(A) (A womw (R) GrerGu &M, Gogib (R) erarug (A)-eflpe sflwrar eflargesin
(B) A vinw (R) @raniin &0 Guaub (R) ererug (A)-a9b@ sflwran sllerasnde
(C)  (A) efl. syemmed (R) geup

(D) (A) seumy. @paned (R)

Consider the following statements :
Assertion (A} . In Vellore the native Sepoys rose in revolt in 1806

Reason (R) : They wanted India free from the rule of East India Company.

Now select your answer according to the coding scheme given below :

(A) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
w‘)f (A) is true, but (R) is false

D) (A) is false, but (R) is true

154. Epdacircupbles erg sflwnsl Qurmssdng ?

(A)  sdu gaL - Feurll SUTaThg Fraveud)
(B) eurugsmem apged eutry @B - FHULITTES LlTaTes

(C)  @erd sumiamer @uidksd - eQguirsnam

(D)  Jdyriggenen swrgmib - DLGLOMTITLD Limesor (5 i ras

Which one of the following is correctly matched?
(A) Atmiya Sabha - Swami Dayananda Saraswathi
(B) First Bengali Weekly - Satyvartha Prakash

(C) Young Bengal Movement Vidya Sagar

W Prarthana Samaj — Atmaram Pandurang
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155,y :'I'-:-_T_j(éu‘Lb FevL danb cueny Cal sydaisy C:-xf‘-_-;_.z_nl.r:!w GTEMTID LLT e &;g;gb;i_f i dhlem s Genakrb,

@evameli e Wasgingi Galesr (. Gleng scily ardigi pran flenmeuans w wi G erang) Fa
(A)  sunes spHrEumen (B)  snpdlad
(C) ameuanrend Crm (D) argri eudbauimi LGLG

I am not going to be satisfied with anything short of complete freedom we shall do or die we
shall either [ree India or die in the attempt. Who among the following gave the speech?

{A) Subash Chandra Bosc #ﬂ’ Gandhiji
(C)  Jawaharlal Nehru (1)) Sardar Vallabhai PPatel

156. &pdacinLeuhmien srbs eundadflud sflwins Gummhselaena?
(A) 1857 @hdw Gummsasn Gnba) whmb epaveSn Aflefnearses GG daanms
(B) @ndu el s Apsdidu eailss gupelliwblmbay Sl wesrilen Crrg ol 8 sl (papns s
SN
(€  sneflm fiyy apgd genawentn LeRBITS HluGESIUC LT

(DY Gupydllen obléans @ESW wasatlan ‘GusenT &ril L e e pasuBidng.

Consider the slatement, which of the following statement is not corvectly matched.
W) The revolt of 1857 led to the division between the Hindus and Muslims

(B) Indian administration transferred from East India Company to the Crown by Queen's
Proclamation.

(C) Lord Canning was the Governor GGeneral of India.

(1N Queen’s proclamation was catled the Magna Carta of the Indian People.

157, Spasan . curddhurugansr seual :

anpm (A) D o Ganait Alap. PE0- el Bunt (pigheeLeT LSS L0ESSIEE LonhleanTi.
sigeand (R)  + wrlgr 500a0 [ Gadd ppoonn slils Guni qpy b 24 eim srod s@isCs

SIGannl LG OESHEE wrhlarT.
(A) (A womd (R) gevnranensu
(B (A saumy wimb (R) o8
(C)  (A) s womid (R) seuyy
(D) (A wpmw (R) sfwreiamas

Consider the following statements :

Assertion (A) © Asoka was converted to Buddhism immediately after Kalinga War in
260 B.C.
Reason (R) : Bhabra inscription clearly states that Asoka was converted to Budhism two
and half years after the Kalinga War.
(A) Both (A) and (R) are false BT (A) is false and (R) is true
(Cy  (A) 15 true and (R) 15 false () DBoth (A) and (R) are true
B 53 SET2
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158. gflwnen eflanenug Glafiey Cewwey.

Blevdslenw erftlummenns LwemuESgD WenHlameawmsaiambg CeuellGumb eumy
(A)  shss-dL—ysman( (B)  emnmen gpaamen()

(C)  artuen GurGenmaeanan{h (D) srrua-a - éamen(

Choose the correct answer :
The gas comes from power plants that use Coal as their fuel.
,y‘ﬂ Sulphur-di-oxide | (B) Nitrogen oxide

(C) Carbon monoxide (D) Carbon-di-oxide

159, weupg Agrii GhHss sfwren cursdlusgens CarbbsHasea b
[ eefiCaotu Blaltufu uewsdasrm e LiGs QuEprsLld Smwbgeerns.
IL @8 <eadGredwnellen s _hHaamyad HuumeD 2 anang.
I, @a s Geony (pmens.
IV, euldsafufe Siol b geanun Gurg Geaafuld Qafuib.
(A)  I-o [~ & (B) I-wll-wsh

(Cy 1T il @ub &f (D) smaggo s

Choose the correct statements about coral reefs :

L The World’s largest coral structure is situated in the Pacific Ocean.
IT.  Itis off the coast of Australia.

III. Itis Fringing reef.

[V. They get exposed as the water in the lagoon goes down.

(A) T and III are correct \..Q»B‘r I and II are correct
(C) III alone correct (D) All are correct
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160. sllpmmiige QuiGrre Senl &asmigus <,om euig.blavd erg?

161.

(A)  eweuans augHlab (B)  anrGeufl ugblestd
(C)  Quhwrt eugbleotd (D) smdlguyest! eng Blab

In Tamilnadu which one of the following river basins has petroleum reserves
(A) Vaigai Basin vﬁé; Cauvery Basin

(C) Periyar Basin (D) Tamiraparan: Basin

uligwe I g ul e [T e _ér Qummadl G dar@éaiun’ Harer Pl aeners Carar( sflwmer
slientenuig Carbls .

Ui 1 L g 11
() @BCsmCarafiun 1 LTEm Qg e
(b) Ay LwsalsGan 2 LI T B0 1965
© smsd 3. sgranCGum
(d) Feur 4 MGundlgmesm_

(a) (b) (c) (d)

ay 2 4 1 3
@& 3 4 9 1
(G 2 3 1 4
® 4 2 3 1

Match List T with List II correctly and select your answer by using the codes given below :

List ] List [T

{(a) Indonesia 1. Tangshan
(b) New Mexico 2. Pontic
(¢) Turkey 3. Krakatau
{(d) China 4. Rio Grande

(a) ®) (¢ (d)
(A) 2 4 1 3
(B) 3 4 2 1
(C) 2 3 1 4
D) 4 2 3 1

bb SFT2
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162, Sipamann_ curddsiviiugenet sllend

gomm (A) o MLawreliss b b duinang), Lsmmeuin L b Semowirerg;”
angenmt (R) : uenaidab pETGeunisenar uTEaEh Lamraum L Gaanauilesn Slemmm1_gHlbieE
U6 8 (5D

@eupmer eray &M srem Fiorefaseayb -

(A) (A vomo (R) @reawiib sl Coaybd (R) sramug (A)elling silurer sfiergsh

B) (A womd (R) @rarEHin efl. spenmey (R) eremugy (Ao 20 nan el arssmnde
() (A) #fl zpemmad (R) seumy

(D) (A) soumy penme (R) &7

Consider the {ollowing statements :
Assertion (A) ¢ “Inflation 1s unjust and deflation 1s inexpedient”
Reason (R) - Inflation affects the common man and deflation results in unemployment
Now select your answer according to the coding schemes given below.
\ﬁA"]/ Both (A) and (R) are true, and (R} is the correct explanation of {A)
(B)  Both (A) and (R) are true, and (R) is not the correct explanation of (A)
() (A)is true but (R) 15 false

(1 () 1s false but () 18 true

163, wadli: ors Biremullssener eaglu cidlgssmmnahli_ gaBeems @il b wirbla ks
(A)  Cagend, srpnisb, $8psiIH (BY Sann, epfilanr, megmg

(C)  bangm g )b, HEENLD, Flig TS (D) weEsem, anfiwmens, ingSunSgGard

Which of the following sets of states gives more than ‘Minimum wage rate' fixed by the
Central Govt.?

{(A) Kerala, Karnataka, Tamilnadu (B) Bihar, Onssa, Gujarat

(C) Maharashtra, Assam, Chétisgarh Q}f Punjab, Harvana, Madhya PPradesh
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164. &psrarueud e

165.

I

L Qungennzgirg ydldan Aoflcb galgame s_Quuiiss wbhdns
II.  ygdhwnaidlu grenmaet Humgs ggenmpuhiib wi' (Hib

M. GeeneuGu Qurmisgian xenwden Chssn

IV, Gluingiggienm @nenwol o ser bungleaurs ereueils Gumlig Limerms@nd Gaeame

argl seummen eflapL?
(A) T wihod 1T seum (B) IV ol pGw seuny
() IIL 1V geum (D) I, UI seupy

Consider — Following :

T Concentration of the power is checked by public sectar

1. For the wellare of public essential units should be under Govt. control
III.  Service is main motto of Public Sector

IV. Public Sector units almost have competitors

Select which is not correct ,
Ay I TI false GBIV alone is false
(Cy 111, IV falsc (Dy 1, 111 false

ELpsen_aosugener Heuct
Fmml (A) D entudla@adlen G o arer sLengear, Mamel eutidl ppad ereflgns Srsslinpdsnmen.

amye: i (R) o Astey eundluren  enends  wwidlaatldn eow ekd aap flaadld e
Ereuaions Qewanhipdlm s,

Blencusmalley ergy afl :

(A (A) opmio (R) @rem (i #fl, gpane (R) wanugy (A)a@E eflwner ellerdasn e
(BY (A) af, (R), (A) &@ oflumen eflendsib iéoa

(C)  Aeyd (R) Gyam b gelgselGu #fl. (A)éag (R) arsnugy sflwnen ellargsin

D A (R) grenduo seum.

Consider following :
Asgertion (A) : Interdebtedness among Banks are settled through RBI
Reason (R) - RBI, acts as Central Clearing House

Select your answer according to the coding scheme :
(A)  Both (A) and (R) are true, and (R) is not the reason for (A)
(B) (A)is true and (R} 15 not reason for (A)

JE Both (A), and (R) is true and (R) is reason for (A)

(D) Both (A) and (R) are false
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166. Gemeuqpid Cagmgsefleh ergy Guimenswnar $hi@guifs Qandell wiwe?
(A)  wépser wihmib Cauby B) ovregdurs womwn DDT
(C) Gy wHmb efersllseamGamni D)  NersClaem@entiy LHHID WiEghFeT
Which of the following pair 1s not a natural pesticide?

(A) Turmeric and Neem JEIT? Malathion and DDT
{C) Neem and Castor Oil (D) Castor 01l and Turmeric

167. Spssramusupila ag aflunes QurmsgiuL.eaeana?

(A &Hwubp 1.  anypeGarsb

B) yCralww 2 @enLflenas aflob
(C) Cufww 3. &mywe 2 Gerah
(D)  feaeur 4 GenL_lenavg saflolb

Which ane of the following is not correctly matched :

(A) Caesium 1. Alkalumetal

JB} Uranium 2. Transition metal

(C) Barium 3.  Alkaline earth metal

(D) Silver 4, Transition metal (

168. euflens I whmb euflens I gpflueupern sfiurs QurEssHs. 2 masag edlasamar GanHssiul_(Herem

RS GE@aT L G5 Trpss -

cuileng [ cufileng 11
(2)  smiui 1 Seuly
(by  smiumsGul 2. S(HELD
(¢) GUren samev(H 3. Gebuepliy
(d) LS ysaen( 4. Feobd

(a) (b) (e) ()

(A) 4 1 2 3
(B) 3 4 2 1
(G 3 4 1 2
(D) 4 3 2 1
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Match List I and 1I correctly and select vour answer using the codes given below :

List I List I1
(a) Copper 1. Red
(b) Copper sulphate 2. Black
(¢) Cuprous oxide 3. Reddish brown
(d) Cupric oxide 4. Blue

(a) (b) (c) (d)

@& 4 1 2 3
® 3 4 2 1
@rooos 4 1 2
@ 4 3 2 1

169. @onoeumelser Quru Cuseuans Quihdrsdla @ae apad b erHEsUUREDS. @aamear GnlLGLalwb.
(A) EEG (B) ECG
€y uneldgmi (D)  Lmden

The machine that picture lie detection in investigating criminals is
(A) EEG (B) ECG
+C) Poly graph (D) Doppler

170. sflwres ellentenw Gsiey Qe
BT Uhang 2 angsEd Gunpg i unbg Csdng. =Gs sera) efensamu Gy oeneydrar soeme
2.6088@D BLn(pg s pemddama gbenaid
(A)  Hlenewb Henmepw§ snih5g) (B) fleneod Blenpenwis Fribesee
(C)  Hlenewwb MennéE ardisssaie o dag (D) @Geameuren Blevnse Havawnd oifsn

Pick out the correct one

If we kick a foot ball it flies away but kick a stone of size with equal force it doesn't. Because
-~ .

& Inertia depends on mass

(B) Inertia doean't depend on mass

(C) Inertia is inversely proportional to mass

(D) Inertia is larger for small mass

B 59 SFT2
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171, gilwmen eflenanuis Eunhlls(.

e #xgméc,&ﬂJp, 60 smieuna  elens ey GewduBdlng. =cwsllaslar densses sy

40 kg Wt arer .'f:".;'j"-.'f;:-"r'- & ,I‘.:Il GG .Tmﬂééa:'_ijléh.
{(A) 40 kg wt (B) 69.28 kg wt
(C) 6.928 kg wt (D) 9928 kg wt

Choose correct answer.

A force 1s inclined at 60° to the horizontal. If the horizontal component of force 1s 40 kg wt.
Calculate vertical component.

(A) 40 ke wt ‘pﬂ"' 69.28 kg wt
(C)  6.928 kg wt (D) 9928 kg wt

172, TELNET erdléb Geuener Qaldlmg;?
(A) server-scrver () client-server

(C) client-client (D) server-client

TELNET operates on
(A) server-server \B‘;‘, client-server

()  client-client (D) server-client

173. WWW Giahip L|gannésméa) Wmen wig?
(A)  T.M. Quremeved | By EF. sm_
(C)  sfleni L gm Gl (Dy J.CR. Slads

The_ WWW 15 the brainchild of
WA TM. Bernerslee . (B) E.F. Codd
(C)  Vinton Cerf (DY J.C.R. Licklider

174. FTP (File Transfer Protocol) erpa o panpulies Geuener Gsidimay?
(A)  Client/Client g5gieui (B) Business/Business sisaib
(C) Peer/Peer gggieun (D) Client/Server sggieud

File Transfer Protocol works on the
(A) Client/Client principle (B) DBusiness/Business principle
(C) Peer/Peer principle M‘f)‘ Client/Server principle
SET2 60 B



175. arggenen s5eis wrameuiser Gauduluiena efl(mbueidensy?

UTLiD LD ERTeU T &ET

senfl W 6
QuimSuwe 12
Ceudlufhien 15
2 uifluflused 8
semfleriudligy :

(Ay 32 (By 35

(Cy 41 (D) 42

How many students does not like chemistry?

Subject No. of students

Mathematics 6
Physics 12
Chemistry 15
Biology 8
Computer Science 9

(A) 32 W 35

(C)y 41 (D) 42

D
6
B C
(Ay 6 (B) 9
(Cy 12 Dy 8

The length of CD is

&) 6 il 9
(C) 12 (D) 8
B 61 SFT2
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177, Sipsaenn sapimsetley ergy eflwns Qurmndludreng?

. mewanrd - ofmomgpefleur
[I.  GQaramayrd eflenssn - L1 G Gt 5

I eSpGsnfun - s s &Slren
IV.  oéser eflerdasn - FUlblroentiwr
A 1 : (B) 1II
(C) III Dy 1V

Which one of the following is correctly matched?

I. Nannool - Veerama Munivar
II.  Thonnool Velakkam - Bavananthi

IIT. Veerasozhivam - Bhuthamethran
IV. Elakkanavelakkam - Subbramaniyar
A 1 By 1I

VN 11T o 1V

178. Sipaserr ppang @lentigeiley 6ray/erenau gfluinenane?

(=) suman_n ep(m QFTHNIE STEuTLD

(=) Gdle Goveomnen Sa o arang

(@) B spepdGunenEuimd sreurid

(A) (@), (<) - ol (§) - seum) |
(B) (=) (@) - ol (=) - pauy

(C) (=) (@) — &l (=) - peumy

(DY (=) (=) (@) - &

Which is/are correct out of the below statements?

(a) Vandais an Epiphyte

(b) It has Velamen tissue

(¢) Ttis an angiosperm plant

(A) (a), (b) correct, {c) wrong (B) (a), (c) correct (b) wrong
(Cy (b), (¢) correct (a) wrong J.Hj All are correct

179. Qunsige

(a)  Quomflullue 1.  Archaelogy
by e 2. Linguistics
{¢) wrall_afluig 3. Anthropology
(d) Gsréetind 4. Culture

(a) (b) () (d)
(A) 2 4 3 1
(B) 2 3 1 4
() 4 3 2 1
(D) 1 3 4 9

SFT2 62 B



Match the following :

(a) Mozhieyal 1. Archaelogy
(by Panpadu 2. Linguistics
(c) Manidaveyal 3. Anthropology

(d) Thollieyal 4 Culture

(a) (b) {c) (d)

w7 2 4 3 1
{B) 2 3 1 4
(C) 4 3 2 1
(D) 1 3 4 2
180. Qumrmsss
(1) eflends Comfulim 1. Comparative linguistics
(b  eurernmy Gnmifludiud 2, Historical linguistics
(¢)  eptajemn Ghionfudluig 3. Transformational Grammar
(d)  orhiladaemr Gt 4, Descriptive linguistics

)y (b {c) (d)

a2 3 4 1
® 1 3 2 4
© 3 4 2 1
N 9 1 3

Match the following :

(a) Velakka Mozhieyal 1. Comparative linguistics
(h)  Varalartru Mozhieyal 2. Historical linguistics
{¢y Oppumai Mozhieval 3. Transformational Grammar
(d) Martrilakkana Mozhicyal 4, Descriptive linguistics
@  » @ @
(A) 2 3 4 1
(B 1 3 2 4
(C) 3 4 2 1
(D) 4 2 1 3
B 63 SKFT2
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181. amhilédwn seuns 2 udlisEhéE aBSHEETLE uLnane?
(A Lmde A, mevl (B)  urdefwur, ushsTeurd

(C)  wevl, yErms D)  uvasgraus, ey

Of the following which are anaerobes?
0 . .
JX) bacteria, yeast (B) bacteria, green plants

(C) wyeast, fungi (DY green plants, yeast

182, eramllem aflencu nsHm paths Consen s&aruiss sty ss umse fub
{A) Guéows (B) &SLnCionanmen

(C)  ap CrrCamnmesireiv (D) evl QplG_nerdsan

The bacterium discovered by Anand Mohan Chakrabarthi to degrade oil spills

(A) Bacillus \LB)' Pseudomonas

(C) Nitrosomonas (D) Streptococcus

183. 2_an &l (b B Cosamaatcs darasseneT fas QaallssinBib ysflsdaned e7g)?

(A) BHC (By DEET
(Cy TNT (Dy TNP

Which one of the insect repellant is used to destroy mosquitoes in your house water storage?
(A) BHC S DEET
(C) TNT (D) TNP

184. graQal. o bgieushsren Gusseiwaer elidl eg?
(A)  Hlyilren apsd &g (B)  Bup e Gram mb 65

(C) Bl Len epepmn eld) (D) moe- ZMbFen eSldl

The motion of rocket 1s according to which law?
(A) Newton first law (B) Newton second law
_{j{“ﬂ Newton third law (D) Joule-Thomson law
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185.

186.

Ll e 1-gm i qwes 1 2 Ler Qunmsd, 6y Gar@assiuulHidrea GiluiGaesers Carer k) sfuinen
efleni_emush Carnbols (.
g | L gusen I1
(@)  sirsmiussdlean YfleysensE el G 1. sops ougluen uleomren <o fgmisLID
dlarrb udlihg seflssiul (HareTg
(b)  @darmd opsTREERsE Glen G 2. SIS EMT Gl (R&BEEY
veblenasaie) LdTHE eflasin_Hererg
(@)  @dsrpo uGam sups Yfe|sErse 3. &LLTLS 2remmsd
vl sieflsslul (Heverg
(d) odarrn Gram( OO HEHEG 4. Fa L& eI (LPENH) B TETSLD
Cuhul e rdlud st fsafl b Lding
Sleflaalul_(HeTarg

(a) (b) () (d)

(A) 4 1 9 3
(B) 2 3 4 1
(C) 2 4 1 3
(D) 3 4 1 2

Match List I (forms of power sharing) with List I1 (form of Govt.) and select the correct answer
using the codes given helow in the lists.

List I List 11
(a) Power shared among different organs of Govt. 1. Community Government
(b) Power shared among Governments at different levels 2. Separation of powers
(c) Power shared by different social groups 3. Coalition Government
(d) Power shared by two or more political parties 4. Federal Government

(a) (b) {©) (d)

N
RPN N |
BN o o W

EbSu sirHwaeawiiGen erlLmeug i Lauemeammuild @MU ol (Rerer @idw Guomaeatier
T anf] Sang wireneu?

(A) 114 (B) 22

(C) 46 (D) 48

How many language in India are included in the Eighth schedule of Indian constitution?
(A) 114 @B 22
(C) 46 (D) 48

65 SEFT2
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187. Qan@éslulRerar @il ysaan s uienu (S8 Hurmssoren el enwr Carkba®

gl ib Giflay
(a) MDM 1. Al m ssrsyD
(b)  SSA 2. B fleves sl
(¢ RMSA 3 wHlw 2 ety
(dy NRHM 4, SIS HEES

(a) (b) (c) (d)

(A) 3 4 2 1
(B) 2 1 4 3
(C) 4 2 3 1
() 1 4 2 3

Match List I with List II and select the correct answer using code given below.

Scheme (List I) Sector (List 11)

{a) MDM L Rural health
{b) SSA 2. Secondary education !
©) RMSA 3. Mid-day meal i
{(d) NRHM 4. Elementary education

L@ ® @ @ |
&) 3 4 2 1 |
(B) 2 1 4 3
(€ 4 2 3 1
‘D) 1 4 2 3

188. senfliunensafios aneursn eramugy

(A)  sesluurersetian sfley GUIRIBTS UNERHET @G0

(B) el meysr menpun oy ysfsen
(C)  Exdllenpdsit QuenGuim@ml ser 1

(D) swfllurensefisn suenbummsper Qawd Qpéds Gawuiub gamenue L Qnarhlummense

In computer the term “virus” i1s associated with
(A) Malfunctioning components in a computer
(B) Small insects entering into a computers
Ué‘ﬂ Malicious programs

{D) Programs which will normally affect the hardware components in a computer
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189, o eogen Gumal ergayem Clgm_fyen_weu

190.

191.

(A) o wigb sre (Hoe
(C) el L ubgund

Usain Bolt 1s associated with
(A) bhigh jump

9 running race

(B)
(D)

(B)
(D)

Berib gram(Hse
G&8) oarcn ) Giram (g

long jump

polewalt

saflw sufleng oL euenantuilé ydlsra Corasiin Hdrer sign) eram 112 Qanar_ gefiwbd

(A) Carulrsnflwb
(C) Qi eeflfiwb

(B)
(D)

Crrarm_Glsnafluibd

Gunflww

The newly added element with atomic number 112 in the periodic table is

copernicium

{C) meitnerium

QUS55 -

(a)  epdrmoen [

(b)  seuar L

(©)  assar aphafadr 111

(d)  Epdw eSlamEeuatl opley

(a) (b) (c)
(A) 2 1 4
(B) 1 2 3
(C) 3 2
(D) 4 2

Mateh the following :
{a) ChandrayanI
{by Kalpanal

(¢)  Accelerators TIT

(d) Indian Space Programme

(a) (b) (0
w2 1 4
®) 1 2 3
© 3 4 9
{ 1 1 2

=
g

— QD

(d)

W o= b W

(B)
(D)

[

)

W

67

roentgenium

bohrium

o Coonseliiue prmiss
< eMEdEOTIDED [hlever &g e’ 1 g)
ellamdeuafl cgppmissulles cusrnidsl

anasGanml_ymes

Metallurgical observation/Research
Unmanned moon mission
Development of space science

Cyclotron

SFT2
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192.

193.

194.

195.

sflwren eflen_enwis GCarbbls(.

rrepulenL, areurons hnd Coeoeransg

(A)  3000°C Qevvuflene wimib 1,00,000 atm sueflipEHD SeMiugar epand
(B) 300°C Qeudnflensy wpmid 1 atm suafloipssd seflliugen apeaib

(Cy 100°C GeuiuBlene G si(Wssd GComasdaena

(D) epssn w GO Sefliiuge apod

Pick the correct answer.

Graphite can be converted into diamond by applying.

()Oﬂ temperature 3000°C and pressure 1,00,000 atm

(B) temperature 300°C and 1 atmospheric pressure (atm)

(C) temperature 100°C and no pressure

(D) applying pressure alone

wrSwelles Cargenensars siflawnsl LwenuSSUIL HID < eus 2 wlflsar

(A)  Qsrs, 6@ F wHmD &5 (5 el

(B)  LwpLysd, e Camedlunge fwb whnib Gleustenar eral

(C) @, Lredl oy wHmb eneuraugar

(D) eveupsvser, el (HEeT LHmD 5.6

Organisms which are widely used for experiments in genetics are

{A) Mosquito, House fly and House rat \QB’} .Fruit fly, E.Coli and White rat
(C) Rabbit, Dolly Sheet and Viruses (D) Viruses, Yeasts and House fly
eneurrey erdimiy Gen Qummetienan sa B9y sseyb

{A) QGuésiGu (B) =GLmu

(C) greur (D) 95

Identify the name associated with antivirus products
WA\ McCaffe (B) Adobe

(C} Java (D) Epic

seunns CunmEssLULLmg CHTHESH.

(A)  efw Bymed e husH siewiy — @elm iy

(B) =2.u9f eumuy =ymmed sewsn - Wene pusH o (Heurss
(C)  Bormdmes - weraNrGsead

D) &iw dpd - LFHLGESs Quars sppd apeb
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196.

198.

Pick out which is not correctly matched :

(A) Solar steam generating system — Alr conditioning
(B) Bilogas power plant — To provide electricity

(C) Hydropower — Hilly areas

3)) ) Solar energy — Non renewable sources of energy

yepEubn sréubg eiri wCar wygGLran ahs Briiy 6 @y e ?
(A) SCrHle _ (BY  erlgemqenm
©)  Qszrad (D) @udlorss
The nationality of the famous football player Diego — Maradona is
(A Brazi &Bﬁl 1 Argentina
(C)y ltaly (D) England
. wampeneud Garean(d swrssLuED wenrLp o b
(A)  srougs sfleyser wl Geuamss el Galsng
(B)  smeurs sifleyser wl@Geuang Ceusiu(Basdng
(C) Bewsdle Farys Casdl emeuds o_goydlmg,)
(D)  Grmiser eumeuamnss 5H&H D
Vermi compost prepared by using earthworms
(A) inhibits the decomposition of plant waste
ﬁﬁ'ﬂ speeds up the process of decomposition of plant waste
(C) enhances the water holding capacity of the soil
(D) prevents the diseases
“Lyetr oaLimed” erayid GQene crgen e G _MyenLwg?
(A)  ewnridl (B) w@asubg
(C)  uwelleusl G smaiian D)  sréoupg
The term “Double fault” is associated with
(A) Hockey (B) Handball
\-(4“51 Lawn tennis (I¥)  Football
69 SFT2
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199.

G
A AlidmHin Qumgd

(C) Qués sepoly
Opera 18

(A) a programming language

(C} an operating system

. Gummegs

(@) parmep
(by Qgriple surl
{(c) Gsansu sufl

(d) wHIYE s Heurd

(a) (b) (c)

(A) 2 4 3
®) 3 2 4
(C) 2 1
(D) 1 2 3

Match the following :
(a) Octroi

(b) Professional tax
(¢) Service tax

() Value Added Tax

(a) (b) (©
Ay 2 4 3
@ 3 2 4
o) 1 1
(D) 4 2 3

SFT2

(d)

(d)

(B)
D)

)

(D)

b3

-

o el

Clemplawd Gluemlummer

a browser

word processing tool

SMMGOT GrOUTLL e
aSlumml
HQweair_ o Hugdlumrerd

D(HEFI6USEHIERD GUIHTSHET

Tourism operator
Trader
Cement manufacturer

Medical profession
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